AP® MACROECONOMICS
2008 SCORING GUIDELINES (Form B)

Question 2
7 points 3+ 3 +1)

(a) 3 points:
e One point is earned for stating yes for Mexican consumers.
e One point is earned for stating no for Mexican manufacturers.

e One point is earned for the explanation that reducing tariffs will cause the domestic price of
automobiles to fall in Mexico, lowering the production of cars in Mexico.

(b) 3 points:
e One point is earned for indicating that the current account will move toward a deficit.

e One point is earned for the explanation that the reduction in tariff increases imports relative to
exports.
e One point is earned for stating that the capital account will move toward a surplus.

(c) 1 point:
o One point is earned for concluding that aggregate demand will decrease.
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AP® MACROECONOMICS
2008 SCORING COMMENTARY (Form B)

Question 2

Sample: 2A
Score: 7

The student earned all points in this question.

Sample: 2B
Score: b

The student earned all 3 points in part (a) and 2 points in part (b). One point in part (b) was not earned
because the capital account should move toward surplus if the current account is moving toward deficit. The
point in part (c) was not earned because aggregate demand should be decreasing.

Sample: 2C
Score: 3

The student earned all 3 points in part (a). The student lost all points in part (b) for not referring to the
current account and the capital account. The point in part (c) was not earned because the student does
not give an answer.
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